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@ 6t = 6000000 g @ 500kg = 04t
@ 120000g = 1200kg @ 0.03kg =30g

® 7000g = Tkg
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(1) 540 m? = :cm2

(2) 20300000 cm? = |m?
(3) 4000000 m? = | |km?
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(1) 500 ha = _]km?

(2) 20300000m? = |ha

(3) 7000000 m? = |km?






@ 24a = 240m? @ 1300a = 1.3ha
@ 8km?2 = 80000 a @ 1.6km2? =1600a

B 47m?2 =470a
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® 330a=3.3ha @ 20ha = 0.2km?
@ 540000 m? = 54 ha @ 6.1ha = 6100 m?2

B 1.7km?2 = 17000 a,
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@O 6400m? = 640a @ 8.4km? = 8400 ha
® 290a =2.9ha @ 24t =2400kg

® 70000000g = Tt



14. Yae 7M 772 A7 Aediz 7198 2A L.

@ 30t 7190kg © 37290kg
© 38t ® 37980kg
o
g
=5



15.

150 Zg#ke] FA7E 516 1 =
A7) FopA <.

s kg



16. FAI7F32kg?l E70] d5UH o] B 450 7] A= 2 t 1]
oA L.

s
=¥

o+



=
=

4.2ha

)

420(

)

42000(

@ km?, a
® ha, a

@ m?, cm?

@ ha, m?



18. AAZgel A A 5 0] Holi @ a 21X FakAL.

- 160m - _
’,/
100 it
\_| \
“90m -



19. ©hg 299 Wolt B a7l




20. ofuT} $1w o] Zol7t 7+t 270 m, 180 m ©] 1L, %0]7F 80 m 1 Afc}
2 Z mope] W | RE O Egho] thio] 1 % 3 HEo| A
Ao gyt HAE He T Hole 2 a 1A AokA L.

Y
=

A

ol

&



min

20m _[ Jm.

20m



22,

gsict. o] e T0a
o} BE 9 b SRe

Ct
=B

A Lo} 2 5

A1 S A
== m

7HA]

o



7F27F 600 m, A =27 450 m

23.

A



REEEE

o]

Yo7} 15ha ©

24.

grt colg

4l
%
<A

Lt RE oo0E

29

o <



o

sl ol

25.

o] 5t o], 1a}



